LEEDEREADORR (GELEIE)
XEH28FE 1A 1HREFREARBIRADO

Iz [hHETH 2 [#8AO 65mLEAD Bz |[HETA 2 [#AO 6oL EAO
(A) (N) = (AN) (AN) [fES
(B/A) (B/A)
A B % _ A B %

1|55&H 9,024 4409 489 57| B ZHT 7,195 2,689 37.4
2| ERBIIET 3,347 1596] 47.7 57| ZtEHT 3,286 1,228] 374
3| IEART 3,660 1,693] 46.3 62[/Mgth 122,438 45478 37.1
4|=% 9,229 4179] 453 63 A%t 1,744 646] 37.0
5| K &5 R ET 4,520 2012] 445 64| B R ET 8,345 3,082] 36.9
6| & FHET 2,259 1,000] 44.3 65 | 2 FIl BT 2521 929 36.9
7| ¥AFITET 8,004 3,541 442 66 [ZE LLIHT 12,418 4574 36.8
8| FEH 10,973 4817 439 66( LRI 20,166 7,420| 36.8
9| FNEMET 3,592 1546 43.0 68| FI A = L BT 2,674 981] 36.7
9| &Rl 14,940 6,417 430 684 LL B AF 1,254 460 36.7
11 kS 4T 3,183 1,367] 42.9 70| EEHT 4,675 1,710] 36.6
12| B4t 1,572 672] 42.7 71|32 HT 6,859 2,506] 365
12| % BIl AT 3,008 1,285 427 1| M HT 8,650 3,154] 365
12| EHT 4678 1,998] 427 73| HR{CLET 4631 1,686] 36.4
15|12 &/ 4,489 1,911 426 73| THET 19,768 7,189 36.4
16[dv T 1,993 838] 42.0 75|;& Rl HT 9,286 3,371] 36.3
IMESL 5,100 2130 418 76 | Sk BT 3,316 1,202 36.2
18| EHT 3,311 1377 416 76| FARRET 4931 1,785] 36.2
19[EFHT 3,076 1277 415 78| B R ET 2,855 1,030 36.1
19{_EJIIHT 3,855 1598 415 79| EEEET 10,396 3,746] 36.0
21| =% HT 8,607 3,558 413 79|81 17,769 6,388 36.0
22| EAFT 923 380] 41.2 81| EMAHET 3,019 1,084] 35.9
23| _FHT 2,770 1,133] 409 81| EeSRET 4070 1,460] 359
24 |;Z HHET 3,257 1,325] 407 83|35 F B AT 7,743 2762| 35.7
25| FE R Il BT 2,534 1,029] 40.6 84|Fr1SHT 6,230 2220 356
26| Z ERHET 3,975 1611 405 85| &Il F FF ET 5,241 1,861] 355
26| b flT 3,872 1,569] 405 86| &0 N HT 4,679 1,641 35.1
28| 5 ZHT 17,879 7,226 404 87|/INEIKET 5,124 1,795] 35.0
29| FJIET 3,401 1,351 39.7 87|;EEHT 4,305 1,505] 35.0
30(;th EHET 7,123 2.822| 39.6 89|=Emith 88,302 30,745| 34.8
31|;EFIfT 2,033 801] 394 89| L 3CHT 2,663 926] 34.8
31| ERITET 3,310 1,304] 394 89|_E iR HAT 4,833 1,680] 34.8
31 [FIMRET 7,447 2932| 394 92|l ERT 7.273 2515| 34.6
34| & BRET 6,758 2,652| 39.2 PRI ESE 4227 1,453 34.4
34| =R BT 2,256 884] 39.2 94| & FEHT 8,429 2891 343
34| ;R ER A ET 9,270 3,632] 39.2 94| FxHT 16,369 5613] 343
37| £/ EHT 5278 2,060] 39.0 96 = EXHT 21,061 7.213] 342
38|{= K HT 3,434 1,331] 38.8 97 ;B 7KHET 9,783 3,334] 34.1
39| FI| 7 BT 2,206 854| 387 98|{F:EH 35,441 12,060 34.0
39| 1 H0 PN BT 1,562 604] 38.7 98| ETiEEM 3,285 1,117] 34.0
A1 [ R P ERET 5,853 2,259] 386 98| E ¥ #t 2,090 710] 340
42|EMEH 23,343 8,985] 385 101 & AHET 13,395 4537] 33.9
42[;F)ITH 21,847 8,405] 385 102 [T Z=H7 8,225 2,780 338
44| = FHITH 5,745 2,203] 383 103 [ZRAGHT 3,146 1,060] 33.7
44|12 ;R ERET 4167 1594] 383 104 | ;ZHT 11,334 3811] 336
46 £ ERT 4,640 1,772] 38.2 105 | #30Al 22,964 7,688] 335
47| A RET 3,488 1,327] 38.0 105[2B 85 22,412 7,500] 335
47[/NERT 3,305 1,257] 38.0 107 [ K #tHT 5,716 1,911 334
47| R BT 7,529 2.862] 38.0 107 = B EFHT 5,116 1,710] 334
47|({& = S Er 5,361 2,037] 38.0 107 | F=FH A 1,109 370] 334
47| ifiE R BT 1,801 684] 38.0 110[*F Ex AT 5,254 1,737] 33.1
52| FERET 3,140 1,189] 37.9 110[ KX Z2fT 7,543 2,493] 33.1
53 5% A BT 2817 1,062] 37.7 112[& 5 49,983 16,510 33.0
53| HIZHET 5,520 2,079] 377 113 [ F AT 4,488 1,469] 32.7
53| MR ET 5114 1,926] 37.7 114 |75 E R4 1,140 372] 32.6
56| 5 £ HT 5,624 2,114] 376 114X IGHT 3,249 1,058] 32.6
57| =R 2,604 975] 374 116 [5)IIET 7917 2,568] 324
57| JI| BT 1,679 628] 374 116 [ #E B BT 3,796 1,231] 324
57 4T & HT 2,655 993| 374 11645 ==HT1 8,510 2,757| 324
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(N) (N) = (AN) (AN) [FE:3
(B/A) (B/A)
_ A B % _ A B %
1165 RRH 84,691 27,428 324 1|#EE 1,039,436 347,029] 33.4
120|E BT 9,886 3,185 32.2 At 736,391 240,164| 32.6
121|[EEET 267,751 86,051 32.1 JERE 695,113 224,333] 32.3
121 ENEHT 20,481 6,574] 32.1 =)= 1,406,035 449659] 32.0
123[F )T 41,487 13,284 32.0 5[IUEEE 1,123,509 344,850| 30.7
124| B S HT 12,560 4,009] 31.9 6|EEE 765,106 233,349] 30.5
125 = R EFHT 2,634 837] 31.8 7|F0FRLIE 988,335 300,163] 30.4
126 [#ZZXHT 7,875 2478 315 1EWE 1,066,463 323,886] 30.4
127 | ERERHT 3,947 1,237] 31.3 IEFE 1,283,607 388,602] 30.3
128 |FT U= AT 23,688 7,393] 31.2 IEBEE 1,405,873 425,394] 30.3
129 | HRHAT 28,557 8,892| 31.1 H|XHE 1,173,560 354,477] 30.2
130[ &1 B BT 11,925 3,701] 31.0 12 REFE 2,107,214 629,004 29.9
130 /\ZEHT 17,425 5405] 31.0 13[FBE 2,305,622 685,825 29.7
132 |[ERHAT 7,195 2221 30.9 13| 5HE 1,334,258 395,814 29.7
133[R=H 27,350 8,433] 30.8 15[ RIGE 1,393,539 409,998] 29.4
R ET 16,889 5,190] 30.7 15| BEE 575,418 169,168] 29.4
134 (3L F0MT 6,205 1,905] 30.7 17[FIE 992,511 290,404] 29.3
136(2&FH 28,568 8,726] 305 18[FIFE 1,123,545 327,783] 29.2
136|MB )1l 344,500 105,178 30.5 9|EREE 1,672,370 486,386] 29.1
138( 2= /T 4,086 1,238] 30.3 20[dtiEE 5,376,211 1,554,240] 28.9
138 | #r 7 BT 5,664 1,714] 30.3 21|EEARE 1,799,737 514,785] 28.6
140[EB %™ 22,834 6,907 30.2 22|[@ELE 1,911,633 544,457] 285
141t B 120,727 36,280 30.1 23[=RE 1,376,964 391,311] 28.4
14288 176,039 52,833] 30.0 P TET ! 836,015 236,636] 28.3
143| L E R E7HT 11,113 3312 298 24|fEHE 787,254 222,506] 28.3
143[B¥m 58,929 17,557 29.8 26| £ 12 2,032,055 572,652| 28.2
145( 1R AT 6,281 1.867] 297 26|fEEE 1,942,854 547,500] 28.2
146 (B2 EFT 2,493 739] 296 28|=F 8 1,808,398 505,307] 27.9
147 3R AT 12,953 3,835] 296 29|53 2 3,697,930 1,027,282] 27.8
148 |FE R AT 7,920 2327| 294 29[RIJIE 1,145,694 318,011 27.8
148| & Al AT 27,369 8,034| 294 31| REBFE 2,521,866 699,257| 27.7
150( AT 35,866 10,505 29.3 3|HEER 1,960,525 542,656] 27.7
151 | EBF R 781 225 28.8 B|LEER 2,820,988 777,297] 276
152[#@EH 37,165 10,637] 28.6 4{EER 837,914 229541] 27.4
152[;EhET 6,147 1,755] 28.6 35| RIME 2,917,240 777,850] 26.7
154 |8 Al #F 3,270 931] 285 6| EEE 5,524,043 1,469,349 26.6
154[dLIEB™H 59,194 16,852] 28.5 37| KRE 1,965,319 513,033 26.1
156 [ % Y4BT 5,051 1432 284 38| KBRFF 8,658,164] 2,240,559 25.9
157[4Z2 08T 5,383 1513] 28.1 9| FEER 6,145,670 1,576,595] 25.7
158| Gt 1,128 317] 28.1 40[fBME 5,062,751 1,297,799] 25.6
159 | Ee B HT 5,545 1543] 278 e 2,307,087 588,030 25.5
159| P4 N #E 3,960 1,101 27.8 DIFER 7,186,890] 1,783,759 24.8
161 ;TR 119,092 32,822| 27.6 A3 B R 1,396,024 338,925| 24.3
162|=tafr 4,769 1,308] 27.4 44[ZHE 7,307,924] 1,760,134 24.1
163 | M5 SIE AT 2,425 662 27.3 45[# )12 8,961,724] 2,154,365| 24.0
164 |3 =HT 18,982 5044| 26.6 46| AR 12,966,307 2978,898[ 23.0
165|FFI/RT 5,441 1,440 265 47 [higIE 1,448,656 282,572] 19.5
166|H L 167,994 44398| 26.4 2F 125,891,742 33,471,594] 26.6
166[{dt 3l 47,490 12,550] 26.4
168 | & AT 45,320 11,762] 26.0
169| BB HF B4 1,832 470] 257
170 /M&H 173,317 44410 256
171EES 68,834 17,352] 25.2
172|#LiR 1,931,518 478,867 24.8
173| 5l ;EHT 15,482 3,821 247
174|{E 50 HT 15,014 3,705] 247
175| 8RR T 20,122 4,933] 245
176 | B8 48 22 ET 10,370 2,488 240
1775= 5 2,672 616 23.1
178 | pAZ 2 ET 24,002 5490 229
179 F & 95,442 20,048] 21.0
tisEsEt 5,376,211]  1,554,240] 28.9




